

## Disclaimer

The solution at hand was written in the course of the respective class at the University of Bonn. If not stated differently on top of the first page or the following website, the solution was prepared and handed in solely by me, Marvin Zanke. Anything in a different color than the ball pen blue is usually a correction that I or a tutor made. For more information and all my material, check:

<https://www.physics-and-stuff.com/>

**I raise no claim to correctness and completeness of the given solutions! This equally applies to the corrections mentioned above.**

This work by [Marvin Zanke](#) is licensed under a [Creative Commons Attribution-NonCommercial-ShareAlike 4.0 International License](#).

# Advanced Quantum Field Theory Exercise 4

Marvin Zanker

P6)  $\phi(x) = \frac{\delta}{\delta j(x)} E[j]$ ,  $\Gamma[\phi] = E[j[\phi]] - \int d^4x j(x) \phi(x)$

How to invert  $\phi(x) = \frac{\delta}{\delta j(x)} E[j]$ ?  
 for  $j = j[\phi]$ ?  
 not basically possible (has not seen it)

$$\frac{\delta \Gamma[\phi]}{\delta \phi(x)} = \int d^4z \frac{\delta j[z](z)}{\delta \phi(x)} \underbrace{\frac{\delta E[j[\phi]]}{\delta j[z](z)}}_{= \phi(z)} - \int d^4y \frac{\delta j[\phi](y)}{\delta \phi(x)} \phi(y) - j(x)$$

$j$  still depends on  $\phi$ , so have to write  $j[\phi](z)$  etc?  
 not w/o dependence in class

$$= 0 - j(x) = -j(x)$$

b)  $i E[j] = \sum_n \frac{i^n}{n!} \int d^4x_1 \dots d^4x_n G_c(x_1, \dots, x_n) j(x_1) \dots j(x_n)$

$$\Gamma[\phi] = - \sum_n \frac{(i)^n}{n!} \int d^4x_1 \dots d^4x_n \Gamma(x_1, \dots, x_n) \phi(x_1) \dots \phi(x_n)$$

where from  $\Gamma[\phi]$ ?  
 formal Taylor exp. (for functional though!)

$$\frac{\delta \phi(x)}{\delta \phi(y)} = \delta(x-y)$$

could also use chain rule w/ respect to  $\frac{\delta E}{\delta \phi(x)} \frac{\delta \phi(x)}{\delta j(x)}$   
 different result but same in the end

$$\frac{\delta \phi(x)}{\delta \phi(y)} = \frac{\delta}{\delta \phi(y)} \left( \frac{\delta}{\delta j(x)} E[j] \right) = \int d^4z \frac{\delta j(z)}{\delta \phi(y)} \frac{\delta^2 E[j]}{\delta j(z) \delta j(x)}$$

one quickly finds

$$\left. \frac{\delta j(z)}{\delta \phi(y)} \right|_{j=\phi=0} = \left. \frac{\delta^2 \Gamma[\phi]}{\delta \phi(y) \delta \phi(z)} \right|_{j=\phi=0} = -\Gamma(y, z), \text{ where we}$$

used that the  $n$  derivatives can be distributed in  $n!$  ways and thus cancelling the  $\frac{1}{n!}$ .

Furthermore,

$$\left. \frac{\delta^2 E[j]}{\delta j(x) \delta j(x)} \right|_{j=\phi=0} = \frac{1}{i} (-G_c(z, x))$$

$$\Gamma(y, z) = \Gamma(y-z)$$

trans. inv. or why sym. or sym.

$$\left. \frac{\delta \phi(x)}{\delta \phi(y)} \right|_{j=\phi=0} = -i \int d^4z G_c(x-z) \Gamma(y-z)$$

$$= \delta(x-y)$$

as det. is sym in it change of  $\phi(x_i)$ 's



We thus have

$$i\delta(x-y) = \int d^4z G_C(x-z) \Gamma(y-z)$$

Using the Fourier decomposition

$$G_C(x-z) = \int \frac{d^4p}{(2\pi)^4} e^{-ip(x-z)} \tilde{G}_C(p)$$

$$\Gamma(y-z) = \int \frac{d^4p'}{(2\pi)^4} e^{-ip'(y-z)} \tilde{\Gamma}(p')$$

$$\delta(x-y) = \int \frac{d^4p}{(2\pi)^4} e^{-ip(x-y)}, \text{ we find}$$

$$\int \frac{d^4p}{(2\pi)^4} e^{-ip(x-y)} i = \int d^4z \frac{d^4p d^4p'}{(2\pi)^4 (2\pi)^4} e^{-ip(x-z)} e^{-ip'(z-y)} \tilde{G}_C(p) \tilde{\Gamma}(p')$$

$$\begin{matrix} p' \rightarrow -p' \\ \nearrow \end{matrix} = \int d^4z \frac{d^4p d^4p'}{(2\pi)^4 (2\pi)^4} e^{-iz(p'-p)} e^{-ipx} e^{ipy} \tilde{G}_C(p) \tilde{\Gamma}(p')$$

$$= \int \frac{d^4p d^4p'}{(2\pi)^4} \delta(p'-p) e^{-ipx} e^{ipy} \tilde{G}_C(p) \tilde{\Gamma}(p')$$

$$= \int \frac{d^4p}{(2\pi)^4} e^{-ip(x-y)} \tilde{G}_C(p) \tilde{\Gamma}(p)$$

$$\Rightarrow i = \tilde{G}_C(p) \tilde{\Gamma}(p)$$

✓  
Can we just do  $p' \rightarrow -p'$ ?  
Problem  $\tilde{\Gamma}(-p')$ ?  
→ transl. inv.?

✓  
a coeff.  $ig^4$ ?  
Could also be true in diff. case?  
→ different way in lit.



c) We had  $\delta(x-y) = \int d^4z \frac{\delta j(z)}{\delta \phi(y)} \frac{\delta^2 E[j]}{\delta j(z) \delta j(x)}$

$$\frac{\delta}{\delta \phi(w)} \Rightarrow 0 = \int d^4z \frac{\delta^2 j(z)}{\delta \phi(w) \delta \phi(y)} \frac{\delta^2 E[j]}{\delta j(z) \delta j(x)} + \int d^4z d^4v \frac{\delta j(w)}{\delta \phi(w)} \frac{\delta j(z)}{\delta \phi(y)} \frac{\delta^3 E[j]}{\delta j(w) \delta j(z) \delta j(x)}$$

Why derive w/ respect to  $\phi(w)$  and not  $j(w)$ ?  
 ↳ gives us what we want -

Again, looking at the limits  $\phi=0$  and  $j=0$  after performing the derivations, we find:

$$\frac{\delta^2 j(z)}{\delta \phi(w) \delta \phi(y)} = - \frac{\delta^3 \Gamma[\phi]}{\delta \phi(w) \delta \phi(y) \delta \phi(z)} = i \Gamma(w, y, z)$$

$$\frac{\delta^2 E[j]}{\delta j(z) \delta j(x)} = - \frac{1}{i} G_c(x-z)$$

$$\frac{\delta j(i)}{\delta \phi(j)} = - \frac{\delta^2 \Gamma[\phi]}{\delta \phi(j) \delta \phi(i)} = - \Gamma(j, i) = - \Gamma(i-j)$$

$$\frac{\delta^3 E[j]}{\delta j(w) \delta j(z) \delta j(x)} = \frac{1}{i} (-i G_c(v, z, x)) = -G_c(v, z, x)$$

For 3 vars, not just  $G_c(x-y-z)$  anymore? Still yes?

Still sym. & homob. inv. but also not only dep on diff.

$$\Rightarrow 0 = - \int d^4z G_c(x-z) \Gamma(w, y, z)$$

$$- \int d^4z d^4v \Gamma(v-w) \Gamma(z-y) G_c(v, z, x)$$

$$\Leftrightarrow \int d^4z G_c(x-z) \Gamma(w, y, z) = - \int d^4z d^4v \Gamma(v-w) \Gamma(z-y) G_c(v, z, x)$$

Multiplying w/  $\int d^4x \Gamma(u, x)$  and using  $\delta(x-y) = -i \int d^4z G_c(x-z) \Gamma(y-z)$

$$\Rightarrow \int d^4z d^4x G_c(x-z) \Gamma(u-x) \Gamma(w, y, z)$$

$$= - \int d^4z d^4v d^4x \Gamma(v-w) \Gamma(z-y) \Gamma(u-x) G_c(v, z, x)$$

$$\Leftrightarrow i \Gamma(w, y, u) = - \int d^4z d^4v d^4x G_c(v, z, x) \Gamma(v-w) \Gamma(z-y) \Gamma(u-x)$$

$$\Rightarrow \text{---} \circ \text{---} = \text{---} \circ \text{---} \circ \text{---} \text{ as } \Gamma(p) \propto \tilde{G}_c^{-1}(p)$$

Multiplying w/ integral dep of sb. which we already have a function of? ↳ adds  $\forall x$ !